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o P WE F A [ 59 JeT-9H § JRT 7T 16 o F97 14 &

Please make sure that the printed pages in this question paper are 16 in number
and it contains 14 questions.

o U97YF ¥ GIq HYT 79 T4 HS T F HH FTAT-Yrawl & JEI-g G7 [rd)
The Code No. on the top of the question paper should be written by the candidate
on the front page of the answer-book.

o DU I F FA GG G BT G Y&, JIT F FHH T G
Before beginning to answer a question, its Serial Number must be written.

o JuT-Yiamr & diT 7 @l G/ 9 7 818/
Don’t leave blank page/pages in your answer-book.

o FUTGRaE % SR g o e T A o SEvEdgar & g e krar sav T
P12

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TR T T To JeT-UH YT e [
Candidates must write their Roll Number on the question paper.

o U o7 # AT 37 § [d ' GARTT &Y T [ 59799 {7 T @& & GO B IIT 54
T 7 g o qrar w&hHe T8 RAr Aam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.
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All questions are compulsory.

77 FEr 1 F 1-1 5% % ahg (40) TGS JER & 597 81 5% @@l Fuv oy
g gl 4 firea

Question No. 1 consists of forty (40) objective type questions, each of 1 mark.

Write the correct answer in your answer-book.

o7 & 2 T 6 TF & J9T 2 HH B &

Question Nos. 2 to 6 are of 2 marks each.

77 GEgr 7 @ 11 7% B FIT 3 STH B 8

Question Nos. 7 to 11 are of 3 marks each.

7o7 G 12 @ 14 7% # J97 5 S B &1 JA% F97 F I TTHT 150 & 200
g7 4 diforgy

Question Nos. 12 to 14 are of 5 marks each. Answer each in about 150 to

200 words.

5 G ard O% g7 § SaRkE 97 FarT 9 T 81 G g7 § @ onyal dad T &
g7 FHCTT 8l

Internal choice has been provided in one question of five marks. You have to

attempt only one of the given choice.
I T ST J97 % YT &7 T

Answer should be precise and to the point.
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[ Objective Type Questions ]
SIS & HEAU& B &, 9 [y

Who is known as the father of Sociology ?

Anthropology is the study of ............... .

3EM & ATHR FHEARA Bl FEAT T .o 2

1517

According to Durkhiem the subject-matter of Sociology is .............. .

el T # G -

Choose the right answer :

P oSl fhe @E @ SEeT © ¢
(A) ST T

B) fadies a8

Peer group is an example of :
(A) Primary group

(B) Secondary group

AiedT el [BEHT IO HAFET ST & 7

() g @
(B) @IS T8 H
(C) &9 &

P.T.O.
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Women's movement is an example of :
(A) A crowd
(B) Social group

(C) Association

(6) ‘BH FH WG e A qE @ e faLivar A S § 7 1
(A) SIS W
(B) faxios aqe

Which group is mainly characterised by 'we feeling' ?
(A) Primary group

(B) Secondary group

(7) SMYFRH TS § STAHMAST & JT FRT ..o AR o q ST &l 1

In modern society, ............. and ............. are mainly considered as the
basis of social stratification.

(8) WRAME I QIS el § HHISTh WD Bl TG HAEN ..o q
ST Rl 1
In Indian village system ............. is considered as the main basis of social
stratification.

(9) oMYgE TA ‘G H JEA MR FHE A S B 7 1
(A) S
(B) ST
(C) G

1517
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In modern society, which is considered as the main basis of Class ?

(A) Caste
(B) Race
(C) Property

(10) =T P e 9 amEITe Gares! & STEHM [9d<eT 1 Hedr § °

(A)  FTTANT
(B) dud
(C) THLT

Unequal access to social resources for a man is called :
(A) Competition
(B) Conflict

(C) Stratification

(11) Fr=foRag & @ sMivenie amfsrs =T &1 drem @i 8 2

A) e
(B) gfr
(C) TR

Which among the following is an informal method of social control ?
(A) Education
(B) Police

(C) Customs

1517
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T, iR SR afssdr § STl Waled 8 A uRem @ e S aRfigd
fopar ST & © 7 1
(A) Sie A

(B) Sile 1@

(C) ST |l

(D) SUE HI3 e

The consequences that flow from inequalities in power and prestige can
be classified as :

(A) Life Styles

(B) Life Chance

(C) All of the above
(D) None of the above

T M g9 & fau b easas B 7 1

(A) Gl B T @ B g
(B) HHINTh Fae & fau
(C) HHWG & fQ

The social control is necessary in society because of :
(A) To maintain culture
(B) To maintain social order

(C) For equality
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(14) MYgs T § ST & Tl SeEiid @0 § H-91 e it =i & 7 1

(A) T faeeE

(B) ey fermor

In Modern Society, which one is the most popular basis of division ?
(A) Class Division

(B) Caste Division

(15) WIS RSO & Hi9-9 Qe &R G991 § Aigphas gedi &l e 6 S & ?

(A) M=l T Ay
(B) SMIURE T a9
(C) NI=eE Ten SFI=®

Cultural Norms are imposed through which means of social control ?
(A) Formal and Legal
(B) Informal and Legal

(C) Formal and Informal

(16) fr=foiag & @ &9t qmifote o= & e 7@ R ? 1
A) e (B) SHHG
(C) @ (D) | STwifhar
Which among the following is not an means of social control ?
(A) Education (B) Public Opinion
(C) Law (D) Social Interaction

P.T.O.
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RS THNBIT B G oevvnnennnnnns q e B Bl 1
Early socialization begins at ............. level.
AT TG BT g% BT TRy 1

Give one example of material culture.

T GYE B AT iepih Todl B gEX GYE 9 IS ANl T GHA A & 7 1
(A) T
(B) HEpfIhT

(C) SHlFId TGl

To consider one's own cultural values as far superior than the other's
group is called as :

(A) Ethnocentrism
(B) Sanskritization

(C) Personal freedom

“HEpla T e G 5, NTEH A, SR, FAl, Aiodhdl, A, T q9 A9E &
TS % 959 & @0 § BN 3 GaE@ey U g &Hail g ofed e &7 — g
R 69 fag @ 39 8 ? 1
A) A

(B) <X

(C) Gﬁo@ogﬁﬁ

"Culture is a complex whole which includes knowledge, belief, art, law,
morals, customs and any other capabilities and habits acquired by man
as a member of society". Who defined it ?

(A) Malinowski
(B) Tylor
(C) G. S. Ghurye
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(23)
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TN ovveeeeeennn % fauda B 1
Ethnocentricism is opposite to ............... .

HHONHTT T AT = arcll Sishar & a1 78 ? 1
(a) e

(B) e

Socialization is a continuous process or not ?

(A) Yes

(B) No

HHHTT TEhAT BT Th TaoI RIY v oot § oRafid & S g 1
Socialization process helps in moulding an infant into ............... animal.
Frfcifed Sereeen & & di-|1 STeifa® Epid &l &I & 7 1
(a) @

(B) H=IX

(C) W

Among the following, which is the example of non-material culture ?
(A) Fan
(B) Computer

(C) Traditions

T AT AR A MRE ST e ¥ qika gem 1

National Rural Employment Yoajna Guarantee Act was passed

P.T.O.
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THET B TR H e SMEE H g9 e WHIOT & @ oTver
.............. T & B 1
In the process of urbanization large part of ............. population resides in

............. as compared to rural areas.

YT Al 9= % TR B 8 7 1
(A) = Ay g
(B) THo UHo Hifwamg

(C) To #No &

Who coined the word 'Dominant Caste' ?
(A) Ravindra Nath Mukherjee

(B) M. N. Shrinivas

(C) A.R. Desai

I GER HRHA & SHid STHiET /STFRET] el &l qHie 9Rd § s w9
B g ol F8 HI el & A T 1

(A) @ (B) Tad

Zamindari system in India was abolished under land reform programmes
before independence ? Choose the correct answer.

(A) Right (B) Wrong
"Social Change in Modern India" J&i& & @& & & 7 1
(A) T T

(B) To 3Ro &R

(C) THo Qo Hifvam
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(30)

(31)

(11) 1517
Who is the author of the book "Social Change in Modern India" ?
(A) Sujata Patel
(B) A. R. Desai

(C) M. N. Shrinivas

TS & T ST #0e ®el & w A & ? 1
(A) S
(B) wiE
(©) Fwe

Auguste Comte, a father of Sociology belonged to which country ?
(A) Germany

(B) France

(C) England

A e R HEISTel B 3T § 7 1
(a) @

(B) SAFTE &=

(C) Hed I

Who propounded the word 'Social Fact' ?
(A) Durkheim
(B) Auguste Comte

(C) Max Weber

P.T.O.
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Pt A & ATAR T B JH AR .o, B 1
According to Karl Marx the chief basis of Class Division is ............... .
HHfeH T e FHISITEN & 3 © 1
(A) U A
(B) He IR
(©) F@m
Who coined the concept of collective consciousness ?
(A) Raymond Aron
(B) Max Weber

(C) Durkheim

“ReioF s QEEd T & i G 9eY 3vear’| 3H JEE & a@s & M
CRIEN 1
(A) THo To Hifard

(B) FTAET IWR

(©) o Fo Ferh

Name the author of the book — "Religion and Society Among the Coorgs of
South India".

(A) M. N. Shrinivas
(B) Manmohan Desai
(C) D.P. Mukherjee
fpe IR TEaTE ¥ T RaE Ta & e & e &g wdeer @

ST ? 1
(A) THo To Hifvar

(B) VRS Tl

(©) o Fo Fersh
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(37)

(38)
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Which Indian Sociologist carried out field surveys in village studies ?
(A) M. N. Shrinivas
(B) Radhakamal Mukherjee

(C) D. P. Mukherjee

R feafaenerd § aeiare & Sue Qe qavem 8l 6 & ¢ 1
(A) T3 fasataae™

(B) &S fasafoam

Primarily the sociology as an distinct subject was started in which Indian
University ?

(A) Bombay University

(B) Lucknow University

‘e U8 I I I0SA” — JEIEH B AGH I § 7 1
(a) Rad

B) I

(C) Slo dlo Tl

"Caste and Race in India" — Name the author of the book.

(A) Risley

(B) Ghurye

(C) D. P. Mukherjee

“T Y AP T qBI W AWE ey & a@E B AW Ry 1
(A) To o THR

(B) 3o THo H&wil

(C) o dlo Tl

P.T.O.
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The Myth of the Welfare State — Name of the author of the Essay ?

(A) A.R. Desai

(B) R. N. Mukherjee

(C) D. P. Mukherjee

(39) WA ¥ TUEINMEA &l T GRIN ®U § Wfid HA & 99 e qRAE G9eIeme) o

S B ? 1
(A) Sfo THo gRA (B) @@
(C) Slo dlo Tl (D) W= T it

Credit for establishing sociology as a distinct subject in India goes to
which sociologist ?

(A) G. S. Ghurye (B) Desai
(C) D. P. Mukherjee (D) Ravindra Nath Mukherjee
(40) TUU & fohq oT § GHSIE H1 IgWa BT o 7 1
(a) it (B) uierh
(C) ITd (D) afrf
Sociology was born in which part of the Europe ?
(A) Eastern (B) Western
(C) Northern (D) Southern
[ i RS 997 |
[ Very Short Answer Type Questions ]
Hew g fhd ®ed § ? 2
What do you understand by Reference Group ?
qrITs FEaeT FfaRed § & fhae STeae #3ar § ¢ 2
(A) FEAT & i
(B) &= & TW®

(C) IWad & q A =&

Social Control studies about :

(A) Particular pattern of control
(B) Control methods

(C) None of the above
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frafafad & & $-81 IaEICT STHifaEs TEpT & el 78 © 7 2
(A) T (B) I

() F (D)

Which of the following is not a part of non-material culture ?

(A) Language (B) Values

(C) Clothes (D) Norms

2001 %! STFPFT & ATAR I ..o % % 9 FTEE TG &= 7 W 8 2

According to the 2001 census, NOW ............... % population resides in urban

areas.

T fEdoM Al e 37 AEBe’| &% & q@h & AH Sy 2

"The Division of Labour in Society". Name the author of the book.

[ YRS H97 ]

[ Short Answer Type Questions ]

AT Rerfer & #IE & S [y 3

Write any two examples of Achieved Status.

frefefed & & H9-H J&7 dhead & S i qon 99l & a2 dadl & e |

TETH & ? 3
(A) GHISTH HT=A (B) HHIRE BT

(C) wrIws Hishamd (D) = ¥ P &

(E) SUUF a4l

Which among the following is utmost important to understand the dialectical
relationship between individual and society ?

(A) Social structure (B) Social stratification
(C) Social processes (D) None of the above

(E) All of the above

HYE HRA H R o © 7 3
What is Mass Transit ?

P.T.O.
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10. Sflo THo gRY % AFHR IR ARG H Yeldid Y& H RO 64 AT @0 7 3
(A) dfdare @ ergafe @
(B) Siafdare Mits o

According to G. S. Ghurye in Northern India the main reason behind Racial
Purity was :

(A) Endogamy was allowed

(B) Endogamy was prohibited

11. GHEIHT T66aT 59 Fed 8 7 3

What is Socialization Process ?

[ S ST 997 ]
[ Long Answer Type Questions ]

12. i T f&dEs T9el S Sael |ied el H 5
Explain primary and secondary group with the help of examples.

13. TN TOHOT & &9 § S’ & e v ford 5
Discuss briefly the main characteristics of Caste as a form of Social
Stratification.

SEE|
OR
SRR e METTT & W@ arEal S e e & 5

Explain briefly the major means of informal social control.

14. R T TEET § bl aor s et & UROTTEEy 8 ) gRadel & e
Gxy 5

Explain in detail the changes in Indian Rural Society due to technology and

new Economy.

1517



